Magnescale

[E&x~ 7/ % X - — )L / Rotary Magnescale / Dreh-Magnescale

RS97-1024[ 1GL[] Series

BEOWEFTWEEZZ, b0 T80ET,
CHHORNZ, Z OHHRGHE 2 B3 Btk < 72 0,

THERICERL Tid. ZORWREHHEFE E B D B < 2230,

Btk o251k, BHBRICUVDZLETEINETDOT, BFHREL TL &N,

Read all the instructions in the manual carefully before use and strictly follow them.
Keep the manual for future references.

Lesen Sie die ganze Anleitung vor dem Betrieb aufmerksam durch und folgen Sie beim

Betrieb des Gerats den Anweisungen. Bewahren Sie diese Bedienungsanleitung zum spéateren
Nachlesen griffbereit auf.

EU#% 54 BAE / Instruction Manual / Bedienungsanleitung



[For U.S.A. and Canadal]

THIS CLASS A DIGITAL DEVICE COMPLIES WITH PART15

OF THE FCC RULES AND THE CANADIAN ICES-003.

OPERATION IS SUBJECT TO THE FOLLOWING TWO

CONDITIONS.

(1) THIS DEVICE MAY NOT CAUSE HARMFUL
INTERFERENCE, AND

(2) THIS DEVICE MUST ACCEPT ANY INTERFERENCE
RECEIVED, INCLUDING INTERFERENCE THAT MAY
CAUSE UNDERSIGNED OPERATION.

CET APPAREIL NUMERIQUE DE LA CLASSE A
EST CONFORME A LA NORME NMB-003 DU CANADA.

RS97-1024[]G[] Series



BE2DHIC

Ut OBEII R ERE L TREF SN T ET, Lo L, BEPHRERIZE 5205 721
Pz, KEREELEICKDIER AT AR EANBEROLNRZ TR0, i
BRCd, 7o, BWIMOMREEZELELTLES 2L HD ET,

IS DFL A KR0S RAED 72D OFEFHNILTF - TL 72 S0 EPRE.
REF. R, BEAE 2T OIS, 20 [RED7=DIZ] 2B IaiA< 7230,

D=2 T7NLTE, ROLI BERELTOVET, BRAEEILSHBLTHIrEAE B
P L 7E &,

AR A
==

COFRROEFFHETFO AL, KRREELEIZKDRERKT 5 & AGHUZO%
WEZEHRHDET,

AN\ EE

ZOEMROEBRIEAFO Ve, RERLZOMILIZX D 7y H % L7=0 EEOY 5
25252050 FT,

ARZRIES

A A A A

g

?Eu:é}/‘/fﬁ

THEBILET SRS

®

PEZEIE

THREETRTBES

e

T TOEAL

RS97-1024[]G[] Series

(1)



Mg EP L EOREREY > Thr 5, L LTSN,

ELdTNHHY
£9,

ZSsﬁgtt
= =
FohWnE
S EEBELS TR L &L K BEDER
FR X 7 TS CORIECRFT LA e < 72 X Lo, Lk BEA L)
—
Ll f
é WO TRAHEREE UL e s
Y3 - T H A 2R
Nz FCHMERZ LT 280, Th A E T,
S5k E
@ ABLEL F OB B Y
L e £,
2T — R BT TR, SOEL AW T 72 &0, S USRS A B 5
ZEEHD ET,
T
A =
FEOREEBET S S5k E
TEEAZTE DAL, BEORNREZ KLSHE»D TIEEDOR THOBRWDI HY)
EARMEIRLTL 2 X0, 9,
FoHEWVNE
@ BEE AN E AL AL KSR 45 OB

BIIIAHITEFET S FHLE
B G E A2 AN TEH»THAE. RO RE R 812 FHOBADH )
ErEhisnk S II2K8S Eabf<féw 9,

— M EBER

DIMEMt R 2 B L < B2 20 0— AR FEH T, M4 OfEl 2Bk Lorgid, RFHHFICEHED S
BEEL X OEEAE S BN LTV BB REIC S T &0,

- PR E IR R, éﬁ%mwﬁmhi@&&ﬁmﬁ AEBIL TR Z L AR L T 5 TR 7230,

- ML TR L A, SHEOEEEIET 27200 RS S RAENREKL TITHHAL Z X0,

Wl Téﬂtﬁ%ﬂﬂf@ﬁmiti&L%%éhtﬁm IOWTIE, HEEE K OMBEDIGEIZ TE EHADTIHE
<7FEEW,

- MAHELE AR S A DY T THIC A B GAE. M. BRA S ICLD,. 2 OMEE S K OHERE I E S husun
LANDDETOT, B ZTHhato LK 72 X0,

(2) R$97-1024JG[] Series



RS97-1024[]G[] Series

HX

LTS R 1
Lode BB oo 1
FI R = = SO 1
1o3. S A T I oo 1
Lo T By e e e e e e e e e e e e e r e e e e ereeireeiaaans 1
R 5= B4 i - SRR 2
CI: ' T () D 25— NSRS R R 3
4, BHEE (U TIVED) e 4
F B == s = S 4
I R B N R L = S 4
B B B T D UN T et er e an e 5
6. BEET T R AT —IVDEUT e 6
[T U R RS S B O =S 6
[T S SD Nia a5 = SO 7
B=3.  HT TEE oo et e e er e e e e e s eeaeaaeanans 8
A =1 | SRS R 10
8. BBEE BE A T B ET T e eee e erereee e 12
0. B oottt ar s 13
O-1. [HHET 27 A = TR AR oo e 13
0.2, H T A 7 B oo 14
(oI S A0 2 & o = -SSRSO 14

0.3 d. AN R T Tl oo 14

9-3-2. HERFHBEE T — TIL (BFE ) oo 14
O B oo 15
LR S 7 - - SRR 16

D i



ii () R597-1024( 1G] Series



1. KmBtE

1-1. BI&

ABLEL AR~ 27 % 2 — U TAEBIA O O s EMR I EE T, u—4 / 27 — &2 575t
EREENER T 7)) 2= b T R AT =L THD, —EBE(KR)EZZET 7792 (B B
SHBD ) 7IILEEETFILTT,

1-2. H&

- WM AT TH 5729, INEREEICENEBR SO ELZ T A,
O — 2 NERIZKOFOE®ADEH 0., 7 — TIVAEENES T,
- U—4 /AT = A EEFUEGHETT,
- BNy FE2ENE L TWh b 20, ERE T,
C CEBBEB (R ERRZ T (BR)BDA VAT 2= A F 9 TEABL TWBE 720, &t
By ba—S2&84 Lo MCEREATRETT,

1-3. Y AT LIER

EESTES TS HEEF - =
RS97-1024EGD EEr—J SEBRHEIAO-F
EE~ T XX Tr—IV m
RS97-1024EGA gé‘ f_ﬁﬂ; v DAl (N b N m e
RS97-1024NGA

1-4, Bl

RS97-102401G0[0

\\ I—Ij —7IE@O1:1m. 02:2m. 03:3m 7)
BEZOMINERR (A T7F v 7ED)ER. D ZETHE(FR)HR)

DEEEE : 23 bit B/
— O—%A% (E:96 mm. N: 180 mm)

*03 : RS97-1024NGA D &

RS97-1024[]G[] Series

N1



2. BEHDBFREHE

@ Hhaxva

15 XMl : RS97-1024NGA

® O—4%
BT ORFBRBMEM RN, A v 2 ) X v 2GR L. HEREO DD 7 TV 2 —
MEEAEEE N TVE T,

@ ZF—4
Wz EEEIcmit+2 MR £ 18, RSt~ 327 — A LSI 2 &t 7~ 7l
P % LT E T,

® HAHhazxv4%
MR r — TV L2 212, “EE R (KR REZZ 77927 (BR) o v
P — 5 L BEGAFREIC S D T,

N

20)

RS97-1024[]G[] Series



3. IR EDEE

K%mwﬁa/ﬁ&%%OKb TREOFRFEHEE BTN <2 &0,

< RELFOHER O 5 K OHUHESE I, RHGREHZE 2 B U 7 E 6B T8 > TL 2 &0,
B2 E2F—2F, BV Y PALEBEEOMASHETIHEL Z X0,

- a8 RO —AR AT = 22 THENE I BN THE L 72 &0,

O — &2 O
T — 2 OREPERNICIE. B & OMK A F O BEEREZ TS T 20T 2 X0, BREDeEN
W%éhéi&ﬁ@%bi#o

CMHEmICEE O ENE S, REDTTLZXN,

- IS EE A EOREVE DA REM X BN TL F X0,

CVERT AL IR Ehunhy T 2H TSN TLS Z 0, 7L T = L IS OE RS AN AE
FALARWTL ZE0, 7L =)L THRT A8, BSIREE2HEICL T 20,

2 TF—2DBEA Y FOBHEE

< BNy FORIANCIE, WAk & DR AT O 72BMEEREZ LD RN T 230, G
SEPHE XN S TREMEL B D F 9,

< BEOBFEED NG E DT 20N NEG A 2D LENTL X0,

- B EE A EOEWE DA REM X N TL F X0,

- 27— 2 EELSEE, R AE TIZLANTLS 230,

RIS EFIE, BV AEY I 2AHETRESHNTLS Z 3w, 7T - L DA OEREESNISHE
FALBEWTL Z& 0, 7La— L THERT2EES. BSIHEEMREICL T 20,

><: Bt 1
%)
N
Bt R DT R0
lﬂﬁﬁ?»%%@ﬁa§52:>

LTV

FILA—ILLISD
BHEE

FIA-LT
B xS

15 ZMF : RS97-1024EGD

Bk EDEE

RE / EfREF
o HBTRHZEE SA S TOW A EM 2 I LT R 7 #iikE LTS 220,

R$97-102401G] Series n3



4. HHES (U7 IVEAD)

4-1. 5tk

ZOEHEY 7 22—z T T ) a— b - ) TFANGEEBESTe baLT, T3V fa—3F
t?“‘ﬁﬁfgbiﬁo

[BERAEDSHHEE]
27 —ZETERS.
O—Z2CWEETMEH T

15 ZM5I - RS97-1024NGA

4-2. A2 bO—Z#EHEHTE

TV U= T EOBEHUIDOVTR, TV b U= T —F — OEHTAIE > TS 2 &0,
(7. GEai) 25

4(0) RS97-1024[]1G[ ] Series



5. BIRICOWWT

SEER (R RSB T 7Ty s (BR)BRIEa Y F e =I5 0fHGE 2D 9,

RS97-1024EGD SIS (BR ) BRRHIOHE RO A A
RS97-1024EGA 77y o (BR) BRRHEHERRED A A
RS97-1024NGA T 7w (BR) Mo RED A

RS97-1024[]G[] Series

N5



6. EEE~ Y % X — VO

6-1. MYTEBLVAE

[lfii~ 2" 3 2 — VHUTH O~ K OAZE R, FRITRLAEE LS K12 TL Z &0,

Ad— A& 96 mm (RS97-1024EGD / RS97-1024EGA) Di5&

/10.02
2104 +0.1 ‘ . 77002 B‘
RO.2LLF
| _
296 5
loss 4
2192 +01 : BlED
BT : mm
I EEARR
00— 42 A% 180 mm (RS97-1024NGA) D&
(¢207.3)
/10.02
//|0.02 [8] $192.3
~ $180%°
5 Glon) 6loss [w
8 < \ RO2LUT
S 2 -
E g 9-M6
| IE 9-M6
17 \ 7,
(¢208.3)
$328.3
(¢340)

#1 A—% / 27 —2BFHEORZERET.1 mmEl T CHENIE,

: EEEFD

BAL mm

B EEARE

6 )

RS97-1024[]G[] Series



6-2. MY LD TEE

- MR~ R 2 — v v — & R B REREIR 2 7 — 2 & U B [ E 0 S RS S
ENTWBREAIE. M~ 7 2 27 — L LM OEE A & 5 72012 RAHEEL T 230,

< R 2R 2 — L AU B ETIS, HUS T s K OVl O SIE R ZE RS NICZ 5 B T
EAEMERLTL X0, BUHEAZE AT 72 L T AWERES 2. FTEDRE S5 N T,
B~ 7 2 AT — L aWHRT 22 LB ERHD £ T,

o ARBLIIRESL IP6S ISHEA L TOWETA, 72—V bR A EE 2o m0nEk 32l
TSV, WMEORKE 5555050 £,

< AT — 2 OB — 2 OBMEHEIZ, A1EGZ 72D, WAk E ORBIERET D720
LBENWTL 23,

CH—R ) AT ATRFC, V) TAESHELNTOET, BTHLE VY TAESOM
AbETIMHHL 720,

- AR A4 ET AR AT = A THENE I HHINICZHERBL 2 &, B =4 2T —
ANHRT BN DH D 9,

o PUASERL BUFIEIC e, IEL S HUFF 2 LT Z &0, IELWLETHT 2 LT IERIC
BfE L 0IGaIE. AL — B 2 F TR Z X0,

2%

PR S AR = VDEE (T TV ) a— MEBSERIZEAME) . v—% /AT 4D 9
HOHUFF R T D H B AERALE 225 ) I2H 3R UHA—KT 5 £2ELINIZH D £3, ([10.
SHESHEX | 2H)

15 ZMj| : RS97-1024NGA

R$97-1024 ]G] Series n7



6-3. Bf+FIE

B~ 7 % 27— VBT EI DRSS
1 R~ 2% 20 — L 2 U 2 WA TR H O, (HaEhanZ e 2hfad L £9,
B ZEN D & 255803, FRODICHED £9,

B#EE~ T 2 X5 —ILD AT — 2 QBT+

2 MRV 3R AT —ILDAT — & &N EFRL N (HE) TIRIE® %, Azl UlH
BE A 0.02 mm DA FICHRE L. Ao CHEEL 9., Akidtk, RIOEEFfERL L 7
X, ARSIy 27 24 — 5 ETHERL T Z X0,

n-sRE |B# A b (HER) | FES (HRSK) [#ifdbL2o
96 mm RS97-1024EGD M4 X 20 (94 ) |[M4H 91H) 2.5 N'm

96 mm RS97-1024EGA M4 X 20 (94 ) |[M4H 91H) 2.5 N'm
180 mm RS97-1024NGA M6 X 20 (9A) | M6 H (9 i) 9 N'm

O— 2 A& 96 mm (RS97-1024EGD / RS97-1024EGA) DiZ&

AT—=%
R r1m@ﬁﬁ

/L ]

¥ \ ©]0.02|A
| % T

| 8192 +0.1 |

(2200)

B4 - mm

O— % A& 180 mm (RS97-1024NGA) D&

M6 x 16 (/8 fm)

FES ((TEm)

\ ©[002]A]

;
R
=

(¢208.3)

$328.3

(¢340)

BAT: mm

BEY TR AT—IVDRAT—2EOQ—2DI VT 70 AHE
3 v — & ZBEEAEGHT mICRIESD 9 2112, T — X OEMmA 2 7 — 2 Of I & il L
NI LEMRLET,

4 v —2%, [ERENE URLEGE 0.02 mm U TMSHFEL 9. FEOEE, ¥y o722 —%&
ETHERR L TL 2230y,

80

RS97-1024[]G[] Series



5 Mg~ 32 27 —)Ou — & & EERHEHF I S AT Z AL b (HES ) TIRIES L.
27— 2OMHHE T — 2OEMERIOZ ) 75V AN TEOEIZE S K5 1% /iR L

ESS

A—2AE |[fF RN (HER) |FER (HE&R) (V772X

96 mm RS97-1024EGD M4 X 15 (9 A& ) M4 FH (9 #) 0.14 £0.03 mm KA
96 mm RS97-1024EGA M4 X 1509 A) |M4H 91E) 0.14 0.03 mm LI
180 mm RS97-1024NGA M6 X 16 (9 A ) |M6 H (9 1) 0.25 £0.05 mm LI

O— 2 A$E 96 mm (RS97-1024EGD / RS97-1024EGA) Dig&

2165
2104 +0.1 ©
7 mttm (Al iti @
- T o
= §§ §§§& S
il wilid ||
BT : mm
WAt ~HER
O— 2R 180 mm (RS97-1024NGA) D&
M6 x 16 (/8 )
HEmE

B E

A-%

T TS (FRR)

i

7Y%

- EE T

\

B4 mm

- WifERE / BB O 2 X =3, (@M OBIIERO 2 X =3 2L T Z 20, ([aEmlitix

AL W TL Z X0,

D=2 3TN I LB8BTTOT, BN NEE AW TL 230, u— 4 nEETS L.

PERE / MEREZ RAE T Z S A

BRI~

BEEE~ T 2 X5 —JLOO— 42 OBRfTT

6 TMES TIIESD U7zv — & & A THEE U % Ak &, [ALEE & B L T< 220,

FESEIRY v 7 7 24 — 5 E TR L TL 22 &0,

O—2R%F |BZ e hLy
96 mm RS97-1024EGD 2.5 N'm

96 mm RS97-1024EGA 2.5 N'm
180 mm RS97-1024NGA 9 N'm

RS97-1024[]G[] Series

OF)



7. WELRG

ZFEEH (%) B4 (RS97-1024EGD) DiF4

ERABERT—TILO

=EBREF

i Y N B 20N

ERABERT—TILVQ

b

CNT : 4¥—EZX>7F > ZBIESH

AAMEET BAMEET AAMRET am
JN2DS10SL2-R JNTHS10PL2 JN2DS10SL2-R 36210-0100PL
f§5%& PIN No. PIN No. PIN No. E84%
SON [ 1 A RE 1 1 = B 1 +5V
SD_P 2 i N 2 > > | | yy@| | > ov
=LK 3 M M 3 . T
ont | 4 [EE B 4 4 | B8 | F 4| RaN
RQ_N 5 [EE .~ .~ A6 5 5 Tt~ 5 —
RQ_P 5 |EE LT 1T e = 6 ael | . -
o |7 2% ﬁ ﬁ vy z a ’%ﬁ 7 [ op
+5V 8 ;é e 8 8 < ﬁé\r\ | s DN
+5V 9 A&l A=) 5 5 B iéi | . =
o o P10 [ a6 0 | -
— NI
- — — — — — FG

100

RS97-1024[]G[] Series




T 7F v (%) (RS97-1024EGA / RS97-1024NGA) DG4

5% PIN No.

ERBERT—T VO

AAMZET BANZET
JNTHS10PL2 JN2DS10SL2-R

HAMZETF
JN2DS10SL2-R

SD_N

-

SD_P

=R

CNT

RQ_N

RQ_P

ov

+5V

+5V

ol|lo|o|~N|o |0 |~ [w]N

ov

_

PINNo.  PIN No.
1 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9

10 10

CNT : Y—ExALFTF 2 BIESHR

GE) TIVCIERLELTEEL,

TrHuT (R
Y N B 20N
7 h
U ’J
ERBERI—TILO
AZBETE
PCR-S20FS+
PINNo. 2%
1 SD_P
2 SD_N
3 —
2 -
5 RQ_P
6 RQ_N
7 CNT
| 8 =
9 +5V
10 —
11 —
12 ov
13 —
14 ov
15 —
———— 16 | —ur
17 —
18 +5V
19 -
20 +5V
T ()

RS97-1024[]G[] Series

"1




8.

PR E HEZ K DHEIC

AEDRFEATE DN S IGEI L T O FIMETHID L T 20,

BREO M NA—FFERELTWRTF—JILEQAX T ZICEBIF EVWHEERL T,

BRENP RDOD - g5
KL TLEEL,

Y

AEEZOBFF (RASE/ JUTFZ>X)PELVWHIERLET,
([6-3. MftFlE] &)

120)

WS ICRED & 5155 13
HEETLE ST ZE W,

MAMEYEE/ - EXTTIERCZE 0,

RS97-1024[]G[] Series



9. 1%k

9-1. Elgs~ T % A4 —JUERILR

HHRIEE RS97-1024EGD Series RS97-1024EGA Series RS97-1024NGA Series
e T7Y)a— ¥ ) TIET 457 EIA-422 #EHL)

7 — 2k CIEAE (B ) BRILAR 77 o (KR) Bk

E— 2 mE R L

Rt s (MR & ¥ %)

FiiE (20 CizC) 25

Sy fihe 23 bit )

LAy CW (WIS, M AN ABS "0" (i & & & 1Za0H )

IDEANEIL e 5000 min™

ok P 24 5 i 0~+60 C

PRAF I R -10 ~ +60 C

[REIR] 150 m/s” (50 Hz ~ 2000 Hz)

i iy 1000 m/s” (11 ms)

TRAE P65

IR DC 4.75 - 5.25 V (& — 7 L4ftii = C)

THEER (120 QALY ) 330 mA LT 300 mA

EING )

2 AL (BB EAY DI : 10 ms)

IR ?@ﬁ%ﬁ CHBIEFIN A E ORERE, FEBE 2 — XM & 2 D B TR0 B & IR L

V45| A RS ¢ 96 (%) x 20.15 (JEX ) mm ¢ 180 (%) x 19 (JE& ) mm

r—7Lk 1m/2m(EEHOERr — 7Ll THRE30m £T) Im/2m/3m(ZEEHD
Biir — 7Ll TRE
30mET)

haxox HARTZZE T3 () A8 2%~ 4 2 JNIHS10PL4S | JN1HS10PL.2

e HAR 2T 7 1.3 (BR ) 8L 2 % 2 & X 2 JN2DS10SL2-R ( Hffaa 2 &)

' — 2V b 9x 10" kgm” BI'F 8.8 X 10° kg'm” AT

B 2kg AP (0 —4:02kg/ A7 —4%: 1.7 kg) #34kg (T —%4:0.6kg/

A7 =4 :2.8kg)

CZICRHBLAEARARE., FTEEKERTRIENVHNET,

RS97-1024[]G[] Series

n13



9-2. HAORV ZE 1k

Ox74E> No. | HheE 4400

SD_N

SD_P

Y=L F

CNT

RQ_N

RQ_P

oV

+5V

© |00 | N || O s W |~

+5V

—
(==}

oV

CNT: H—E XX 7+ 2BESE
(X)) 48 TV TFaTLy 7 RAR

9-3. 75— 7 ILitHk

=T AN, EELAENTL X0, e/ s RircE L kD £,
ANy Ry =T, EEHEGr —TLOaXx 2 85T —&, 00— K2 YT 5 LR,
ERRET AR H D DT, BHEROIZHTE L T Z X,

9-3-1. Ny Kgy—TJ I

r—JLE I1m/2m/3m (3m:RS9I7-1024NGA DA )
e LR — 70 (l5e ) HH THRE 30 m & THLEHE
e JNIHS10PL2 ( HAMIZE 1 L3 (#k) #k3L )  RS97-1024NGA

JNIHS10PLAS ( HAMIZZEF T3 (#F) Bk ) RS97-1024EGD/RS97-1024EGA

9-3-2. ERAERT—TIV (FI5E)

R 30m T, mRA2AETORiERIEL £9,
(R — 7@ TR, R -7 L@ 1K)

IERAERT — 710

IERAERT— 71O

r—70k | GEZBHERE TEMWabE < EE 0,
eSS Ny Fr—=7LEDMAAEDE T30 m
IR R JN2DS10SL2-R JN2DS10SL2-R

(H$@¥%?I¥(ﬁ)%ﬁ)

JNIHS10PL2
( BAMTZ2E 7 13 (B ) bREL)

( EIZKW%%’?I% (BR) BREL)

=EEH# () BR1EHR (RS97-1024EGD)

36210-0100PL ({F:/& 2 U — T 4 (#k) BB
F 7213

T7F v U (¥ ) #R{EHR (RS97-1024EGA /

RS97-1024NGA)

PCR-S20FS+ (A% (5 T3 (k) B8l )

14 0)

RS97-1024[]G[] Series



9-4. fTIEM

RS97-1024EGD / RS97-1024EGA

NATUFE AL b M4x15 9A (u—2HUFH )
ANATUFE AL T M4 x 20 9K (27— ZHUTHT)
S LS M 4 1 18 i

FEHE %% 138

ZNX— 140 um 2 %
RS97-1024NGA

NATUFE AN T M6 x 16 9A (u—2HUFH )
ANATUEE AL b M6x20 9K (ZF7— 2
L M 6 18 i

FERE £ 18

ZNR— 250 pm 1#

RS97-1024[]G[] Series

N15



y

Y

fio~r

10. %t

1024EGA)

O — 2 A% 96 mm (RS97-1024EGD / RS97-

ww : )

($I2E) WW G| Tk N[/ 28
W8S ELWW O'GLETIL
U L—LHIER =%

/ INXT
SYOX6
(3Vr) SPI1dOLSHENS
py 222

(3% BBUREY

&

SO X[

g-gEiy
(8] z00]®
100 |0
Y
A
A
. i
= Q
& & 11 m
H N
4 H
S4 1 \\
Y mw

vl

(xcs4gs—0-EHE)
€00F 10

(e00% §1°07)

w0 lo)

0[]

(%08) 94 00Z2

RS97-1024[]G[] Series

16 )



ww ‘T

€0'0FS |

(BHMNEE—O)

NNEE |

— (#e BB HYE

NN NI !
piesead

>

syoved
€807

)

0
0
Lo+

52070

(

79’6

09+ 081

O — 2 A% 180 mm (RS97-1024NGA)

8N X¢C

n17

©
N
S 1=
X )
e |G
x®
vy «,.A\
y ‘&///\4!
2
o
($12E) WW 0ZF =k A BN
WOLSE WW g/ 4EHL
(3vr) Z1dOLSHLNT AW L—LNRIER—~<
EAgLLE

RS97-1024[]G[] Series



18 1) R597-102401GI] Series



Safety Precautions

Magnescale Co., Ltd. products are designed in full consideration of safety. However, improper
handling during operation or installation is dangerous and may lead to fire, electric shock or other
accidents resulting in serious injury or death. In addition, these actions may also worsen machine
performance.

Therefore, be sure to observe the following safety precautions in order to prevent these types of
accidents, and to read these “Safety Precautions” before operating, installing, maintaining,
inspecting, repairing or otherwise working on this unit.

Warning indication meanings

The following indications are used throughout this manual, and their contents should be
understood before reading the text.

/\ Warning

Failure to observe these precautions may lead to fire, electric shock or other accidents resulting in
serious injury or death.

/\ Caution

Failure to observe these precautions may lead to electric shock or other accidents resulting in
injury or damage to surrounding objects.

Symbols requiring attention

AN A A A

CAUTION

FIRE ELECTRICAL FINGER JAM
SHOCK

Symbols prohibiting actions

®

DO NOT
DISASSEMBLE

Symbols specifying actions

&

UNPLUGGING

RS97-1024[]G[] Series

€ (1)



/A\ Warning

Do not use with other than the specified power voltage.
Do not use the rotary magnescale with other than the indicated
power voltage.

Do not install with wet hands.
Do not perform installation work with wet hands.

Do not disassemble.
Do not open the stator to disassemble or modify the unit.

/\ Caution

Ensure work safety.
Be sure to check the machine and device condition to ensure
work safety before working on the machine.

Do not perform any work with the power still supplied.
Be sure to cut off the power supply or other drive sources before
proceeding with the work.

2\

Take care not to catch your fingers.
When turning on the power supply or other drive sources, take care
not to catch your fingers in the peripheral machines and devices.

General precautions

Failure to observe this
precaution may result
in burns or electric
shock.

Failure to observe this
precaution may result
in electric shock.

Failure to observe
this precaution may
result in injury.

*The internal circuits may
also be damaged.

Failure to observe
this precaution may
result in injury.

Failure to observe this
precaution may result
in burns or injury.

Failure to observe
this precaution may
result in injury.

When using Magnescale Co., Ltd. products, observe the following general precautions along with those given

specifically in this manual to ensure proper use of the products.

« Before and during operations, be sure to check that our products function properly.

o Provide adequate safety measures to prevent damages in case our products should develop malfunctions.

o Use outside indicated specifications or purposes and modification of our products will void any warranty of the functions
and performance as specified of our products.

o When using our products in combination with other equipment, the functions and performances as noted in this manual
may not be attained, depending on operating and environmental conditions.

(2) (E) RS97-1024[]G[] Series



RS97-1024[]G[] Series

Contents

1.
1-1.

1-2.
1-3.
1-4.

4.

4-1.
4-2.

6-1.

9.

9-1.
9-2.
9-3.

9-4.

10.

Product Overview 1
Overview
FRATUTES .ttt s
System ConfIgUration ... 1
MOl NAINC ...t seae 1
Name and Function of Each Part 2
Handling Precautions 3
Output Signal (Serial Output) 4
Signal SPecifiCations..........ccucicieiiiiii e 4
Controller Connection Specifications........couceurecerereeeunenecerineeeerereeeeneceesseceeenes 4
Power Supply 5

Rotary Magnescale Installation

Installation Dimensions and Tolerance
Installation Precaution ... ccecincenecineeneeineeseeinesseetseseesesseseeessessesesseseens
Installation ProCedure ........c.ccreeecireerineirieniereiseetseie ettt seene 8
Example of Wiring Connections 10
Troubleshooting 12
Specifications
Rotary Magnescale Specifications..........cceceveeeueunce.
Output Connector Pin Specifications
Cable SPeCIfICAtIONS. ....vueeierereireieieiriieie ettt et eene
9-3-1. Head Cable......c.occnureeeciricircireccireceinee et esseeeeenseeeseseeaes 14
9-3-2. Extension Connection Cables (sold separately) ........cocccrerreerrernenes 14
ALCCRSSOTILS. ...ttt 15
Outside Dimensions 16

(E) i



ii (E) RS97-1024[]G[] Series



1. Product Overview

1-1. Overview

This rotary magnescale is a rotation position-detection unit that is designed for machine tools. It is a rotor-
stator separated-type of high-accuracy rotary absolute magnescale, and is a serial communication model
that can communicate with a Mitsubishi Electric or FANUC controller.

1-2. Features

o Magnetic detection system for superior environmental resistance from condensation and other effects

o Large through holes are provided in the inside diameter of the rotor for easy cable routing

o Slim total height design including the rotor and stator

« Two detection heads incorporated for high accuracy

o The unit contains an interface chip that enables communications with a Mitsubishi Electric controller
or a FANUC controller, so it can be directly connected to each of the controller

1-3. System Configuration

Extension
connection cable

Rotary Magnescale
RS97-1024EGD

Mitsubishi Electric controller

Rotary Magnescale
RS97-1024EGA
RS97-1024NGA

Extension

. FANUC controller
connection cable

1-4. Model Name
(10

\\ E Cablelength (01:1m, 02:2m, 03:3m¥)

Communication protocol specification
(A : FANUC, D : Mitsubishi Electric)

RS97—102244L[]aG

Resolution : 23 bit output

— Rotor inside diameter (E: 96 mm, N: 180 mm)

* 03 :only RS97-1024NGA

RS97-1024[JG[] Series

(E) 1



2.

Name and Function of Each Part

@ Rotor

(® Output connector

@ stator lllustration : RS97-1024NGA

®

2(E)

Rotor
An absolute signal for detecting the absolute position and an incremental signal are recorded to the
special magnetic material of the detection surface.

Stator
The stator incorporates MR elements for high-accuracy magnetic detection and amplifier circuits
including a specially-designed Magnescale Co., Ltd. LSI.

Output connector
This enables connection with a Mitsubishi Electric or FANUC controller when using an extension

connection cable.

RS97-1024[JG[] Series



3. Handling Precautions

Be sure to observe the following safety precautions in order to maintain the product’s functions and performance.

o This product should be handled and installed by operators who have read and understood this
Instruction Manual.

 Be absolutely sure to use a rotor and stator with the same serial number in combination.

o When handling the output connector, be sure to avoid knocking it against the rotor and stator.

Magnetic surface of rotor

« Do not bring magnets or other magnetically charged objects near the magnetic surface of the rotor.
Doing so may destroy the magnetic recording.

o Take care not to scratch or damage the magnetic surface.

o Do not knock the metal or other hard objects against the magnetic surface.

« Useaclean cloth, etc. to wipe the surface gently when cleaning it. Do not use any organic solvents other
than alcohol. Even when using alcohol to clean the surface, simply wipe it gently.

Detection surfaces of stator detection heads

o Do not bring magnets or other magnetically charged objects near the detection surfaces of the detection
heads. Doing so may destroy the magnetic recording.

« Take care not to scratch or damage the thin metal film covers of the detection surfaces or subject them
to external force.

o Do not knock the metal or other hard objects against the detection surfaces.

o When placing the stator in position, do not place it with the detection surfaces face-down.

o Use a clean cloth, etc. to wipe the surfaces gently when cleaning them. Do not use any organic solvents
other than alcohol. Even when using alcohol to clean the surfaces, simply wipe them gently.

Magnetic objects
S%‘ E)

N
Keep magnetic objects away.

Use a rotor and stator with the
same serial number in combination

Magnetic surface

Detection surfaces

Keep away fom the

Stator
rotor and stator.

Do not use any organic
Wipe gently with a cloth solvents other

containing alcohol. than alcohol.

Illustration : RS97-1024EGD

Handling precautions

When storing or transporting the unit
o Store or transport the unit using the packaging materials in which the product was shipped.

RS97-1024[JG[] Series

(E)3



4. Output Signal (Serial Output)

4-1. Signal Specifications

RS97 performs data communication with a controller using bidirectional absolute serial communication

protocol.

[When seen from the direction

shown in the right figure]
Addition count when stator is fixed
and rotor is rotating clockwise

Illustration : RS97-1024NGA

4-2. Controller Connection Specifications

When connecting to a controller, be sure to follow the connection procedure of the controller manufacturer.
(See section 7, “Example of Wiring Connections.”)

RS97-1024[JG[] Series

4 ()



5. Power Supply

The power is supplied from the Mitsubishi Electric or FANUC controller.

RS97-1024EGD

Compliant only with models connectable with a Mitsubishi Electric controller

RS97-1024EGA

Compliant only with models connectable with a FANUC controller

RS97-1024NGA

Compliant only with models connectable with a FANUC controller

RS97-1024[JG[] Series

(E)5



6. Rotary Magnescale Installation

6-1. Installation Dimensions and Tolerance

Ensure that the rotary magnescale installation surface dimensions and tolerance have the values shown in
the figure below.

For a rotor inside diameter of 96 mm (RS97-1024EGD/RS97-1024EGA)

0.02
2104 0.1 i
o [//l002]8]
:
wn
=}
E —iﬂ 002] q
9-M4
\ 9-M4 R0.2 or less
7 v
\
296 4
0100) ©] 005 [A]
28192 +0.1 : Rotation center
Unit: mm

Installation surface specification figure

For a rotor inside diameter of 180 mm (RS97-1024NGA)

(¢207.3)

/|0.02
//1002 |8]

$192.3

EER B o] oos]4]

R 0.2 or less

(1)

9-M6
9-M6

.7

9.64+005
10)

(¢208.3)

$328.3

(¢340)

*1 Adjust so that the unevenness between the rotor and stator installation surfaces is 0.1 mm or less.

: Rotation center

Unit: mm

Installation surface specification figure

6 (E) R$97-102401G] Series



6-2. Installation Precaution

o If the surface of the rotary side where the rotor of the rotary magnescale will be installed or the surface
of the stationary side where its stator will be installed is coated with paint or some other substance,
remove the coating in order to ensure conductivity between the rotary magnescale and machine.

o Beforeinstalling the rotary magnescale, be sure to check that the dimensional tolerance of the installation
surface and machine shaft are within the standards. If the installation dimensional tolerance is not
within the standards, the required accuracy will not be obtained and the rotary magnescale can be
damaged.

o This product is compliant with the degree of protection IP65, but be sure to protect it from coolant,
chips, etc. Otherwise, malfunctioning may result.

o Do not apply an external force to the detection surface of the stator or the rotor magnetic surface, and
do not bring magnets or other objects with a strong magnetic field near them.

o The serial number of the rotor and stator is marked on each part. Be absolutely sure to use a rotor and
stator with the same serial number in combination.

o When handling the output connector, be sure to avoid knocking it against the rotor and stator.
Otherwise, the rotor and stator may be damaged.

o Install the unit correctly by referring to the installation dimensions figure and the installation procedure.
If the unit fails to work properly even after it has been installed correctly, contact our service department.

o The reference point of the rotary magnescale (the position where the absolute value is zero) is where the
screws at the uneven location (22.5 degrees) among the nine installation screws of the rotor and stator
are aligned within +2 degrees. (See Section 10. “Outside Dimensions.”)

Reference point

i output position
lllustration : RS97-1024NGA (+2 degrees)

R$97-102401G] Series (E)7



6-3. Installation Procedure

Checking the rotary magnescale installation surface
1 Check that there are no indentations, rust, or scratches on the machine shaft where the rotary
magnescale will be installed. Completely wipe off any dust and dirt on the machine shatft.

Installing the rotary magnescale stator

2 After temporarily securing the rotary magnescale stator using the supplied hexagonal socket-head cap
screws, adjust it so that it has a concentricity of 0.02 mm or less with the rotary shaft, and then tighten
up the screws. After tightening up the screws, check the concentricity again. Check it using a dial test
indicator or other such tool.

Rotor inside diameter | Model Screws (supplied) |Flat washers (supplied) |Tightening torque
96 mm RS97-1024EGD | M4x20 (9) for M4 (9) 2.5N'm

96 mm RS97-1024EGA | M4x20 (9) for M4 (9) 2.5N'm

180 mm RS97-1024NGA | M6x20 (9) for M6 (9) 9 N'm

For a rotor inside diameter of 96 mm (RS97-1024EGD/RS97-1024EGA)

Stator
Detection surface Detection surface

7 \ ©10.02 |A
2192 +0.1
(2200)

Unit: mm

For a rotor inside diameter of 180 mm (RS97-1024NGA)

ﬁ Stator M6 x 16 (supplied)

.
-4‘: Detection surface Detection surface I Flat washer (supplied)
R —— )

7 N\

R

(2208.3)

23283

(2340)

Unit: mm

Adjusting the clearance of the rotary magnescale stator and rotor
3 Before temporarily securing the rotor to the rotary-side installation surface, check that the rotor
magnetic surface does not contact the stator detection surface.

4  Adjust the concentricity of the rotor with the rotary shaft to 0.02 mm or less. Check the concentricity
using a dial test indicator or other such tool.

8 (E)

RS97-1024[JG[] Series



5 Temporarily secure the rotary magnescale rotor to the rotary-side installation surface using the
supplied hexagonal socket-head cap screws, and adjust and check that the clearance between the stator
detection surfaces and the rotor magnetic surface is the corresponding value in the table below.

Rotor inside diameter | Model Screws (supplied) |Flat washers (supplied) | Clearance

96 mm RS97-1024EGD | M4x15 (9) for M4 (9) within 0.14 +0.03 mm
96 mm RS97-1024EGA | M4x15 (9) for M4 (9) within 0.14 £0.03 mm
180 mm RS97-1024NGA | M6x16 (9) for M6 (9) within 0.25 +0.05 mm

For a rotor inside diameter of 96 mm (RS97-1024EGD/RS97-1024EGA)

2165
0.02 |A
2104 +0.1 -.
Magnetic H Rotor
surface —
\
\

(20.15)

20.14 +0.03

N NWN Stator

il

Unit: mm

Installation dimensions figure

For a rotor inside diameter of 180 mm (RS97-1024NGA)

M6 x 16 (supplied)

Magnetic surface

Rotor

Magnetic surface ==— Flat washer
(supplied)

CZZ\

R
-

Unit: mm

Installation dimensions figure

o Use the supplied plastic spacers for checking and adjusting the clearance. Use only the supplied spacers
and no others.

o The rotor is made of aluminum so do not subject it to strong external forces. No guarantees for the
functions and performance of the rotary magnescale can be made if the rotor becomes deformed.

Installing the rotary magnescale rotor
6 Secure the rotor by tightening up the screws that were temporarily secured in step 5. After tightening
up the screws, check the concentricity again. Check it using a dial test indicator or other such tool.

Rotor inside diameter | Model Tightening torque
96 mm RS97-1024EGD |2.5 N'm

96 mm RS97-1024EGA |2.5 N'm

180 mm RS97-1024NGA |9 N'm

RS97-1024[JG[] Series

(E)9



7. Example of Wiring Connections

Mitsubishi Electric specifications (RS97-1024EGD)

L o=

Extension connection cables (D

HeesY e

To the Mitsubishi Electric controller

gess

Extension connection cables 2

CNT : Signal line for service maintenance

Japan Aviation Electronics Industry Japan Aviation Electronics Industry - Japan Aviation Electronics Industry 3M
JN2DS10SL2-R INTHST0PL2 JN2DS10SL2-R 36210-0100PL
Signal name PIN No. PIN No. PIN No. PIN No. Signal name

SD.N ] Gray .~ ,—~ Gray 1 1 Gray |, ~ Orange ~ ] 5V
SD_P 5 Orange | | | | Orange N 5 Orange | Gray | 5 ov
Shield 3 [oheld — shield 15 3 |-hield 3 RQ_P
ONT 2 Blue ! ! Blue 2 2 Blue ! Blue ! ’7 4 RQ_N
RQN 5 White | -\l | ‘\l White 5 5 White | ‘\l ><Cvid | ‘\l ’7 5 _
RQ_P 6 Red Red 5 P Red hite 6 —

oV 7 Brown E . E Brown 7 7 Brown Brown, 7 SD_P
5V 3 Green | | | Green s s Green Green s SD_N
5V 9 Violet z i Violet 9 9 Violet Violet 9 CNT

ov 10 Black Black 10 10 Black Black 10 _

— Shield
—_—— — — — — — — FG

10 (E)

RS97-1024[JG[] Series




FANUC specifications (RS97-1024EGA/ RS97-1024NGA)

To the FANUC controller

[
S

Extension connection cables (D Extension connection cables @
Japan Aviation Electronics Industry Japan Aviation Electronics Industry  Japan Aviation Electronics Industry Honda Tsushin Kogyo
JN2DS10SL2-R JNTHS10PL2 JN2DS10SL2-R PCR-S20FS+
Signal name PIN No. PIN No. PIN No. PIN No. _Signal name
D N ] Gay .~ ,—~ Gray 1 ] Gray ~ Orange , ~ ] D P
SD_P 5 Orange | | Orange 5 5 Orange | | ><Gray | | 3 SD_N
Shie]d 3 Shield j \I— shield_J 3 3 shield :I \T 3 —_
ONT P Blue ! ! Blue 4 2 Blue ! Blue ! 2 —
RQN 5 White =~ i -~  White 5 5 White i '\l Red i ‘\l 5 RQ_P
RQ_P 6 Red \I\ \;\ Red 6 6 Red ! ><Whlte 5 RQN
oV 7 Brown | Brown 7 7 Brown Brown 7 ONT
5V s G'reen G}reen s s G‘reen \& G'reen 3 _
5V 9 Violet | | | | Violet 9 9 Violet | | Violet 9 5V
ov 10 Black —< Black 10 10 Black Black 10 —
— Shield
—ohield___ 1 _
CNT : Signal line for service maintenance | 12 oV
| 13 —
| 14 ov
15 -
(Note) Do not connect to shell. |_ I I 16 Shield
17 -
18 +5V
19 -
20 +5V
Shell (Note)

R$97-1024[ 1G] Series E) 11



8. Troubleshooting

If a problem with the rotary magnescale is suspected, take the steps below to resolve the problem.

Check that the cables and connectors used to connect the unit and controller
do not have any problem.

If a problem is found,
replace the part concerned.

Y
Check whether the unit has been installed properly (check the concentricity
and clearances).

(Refer to 6-3 “Installation Procedure.” )

If there is a problem with the installation,
perform the necessary adjustments.

Contact our sales or service department.

12 (g) RS97-1024[1G[] Series



9. Specifications

9-1. Rotary Magnescale Specifications

Item

RS97-1024EGD Series | RS97-1024EGA Series

RS97-1024NGA Series

Output signal

Absolute serial (Full duplex: Compliant with ETA-422)

Data format

Mitsubishi Electric specifications | FANUC specifications

Motor temperature detection

Not available

Detecting method Magnetic (MR sensor)
Accuracy (at 20 °C) +2.55s
Resolution 23 bit output

Revolution direction

Clockwise (Addition direction given along with absolute “0” position on outside dimensions)

Response revolution 5000 min™
Operating temperature range 0°Cto +60°C
Storage temperature range -10°Cto +60 °C

Vibration resistance

150 m/s? (50 Hz to 2000 Hz)

Shock resistance

1000 m/s? (11 ms)

Degree of protection IP65
Power supply voltage DC 4.75 - 5.25 V (at cable connection end)
Current consumption 330 mA or less 300 mA

(at 120 Q terminal)

Inrush current

2 A max. (when the power supply rising time is 10 ms)

Power supply protection

In the case of errors such as a reverse-connected power supply o
is cut to protect the power being supplied and wiring.

r over-voltage, the internal fuse

Dimensions 96 mm (inner diameter) X 20.15 mm (thickness) 180 mm (inner diameter) X
19 mm (thickness)
Cable length 1 m/2m (max. total length of 30 m using extension connectioncables) | 1 m /2 m / 3 m (max. total

length of 30 m using extension
connection cables)

Output connector

Male connector JNIHSI0PL4S by Japan Aviation Electronics
Industry

JN1HS10PL2

Compliant connector

Female connector JN2DS10SL2-R by Japan Aviation Electronics I

ndustry (compatible connector)

Moment of inertia

9 % 10~* kg-m?or less

8.8 X 107* kg-m?or less

Mass

2 kg or less (rotor: 0.2 kg, stator: 1.7 kg)

Approx. 3.4 kg (rotor: 0.6 kg,
stator: 2.8 kg)

The information here is subject to change without notice.

RS97-1024[JG[] Series

(E) 13



9-2. Output Connector Pin Specifications

Connector pin no. | Output format: Full duplex

SD_N

SD_P

Shield

CNT

RQ_N

RQ_P

ov

+5V

O ([CO [N |N |V |[W[DN |~

+5V

—_
(=]

oV

CNT: Signal line for service maintenance

9-3. Cable Specifications

o Donotcutorextend the cables. Doing so will void any guarantee of the unit’s functions and performance.
o When handling the connectors of the head cable and extension connection cables, be sure to avoid

knocking them hard against the stator or rotor since the connectors may dent or damage these parts.

9-3-1. Head Cable

Cable length Im/2m/3m (3m:only RS97-1024NGA)
Extension Extension up to a total length of 30 m enabled using extension connection cables (sold separately)
Connector JNIHS10PL2 (made by Japan Aviation Electronics Industry) RS97-1024NGA

JN1HS10PL4S (made by Japan Aviation Electronics Industry) RS97-1024EGD/RS97-1024EGA

9-3-2. Extension Connection Cables (sold separately)

Connection is guaranteed up to a total cable length of 30 m and a maximum of two cables.
(Extension connection cable (D: x1; Extension connection cable (2): x1)

Extension connection cable D

| Extension connection cable @

Cablelength | (for details, contact our sales department)
Total length 30 m when combined with the head cable
Connector JN2DS10SL2-R JN2DS10SL2-R

(made by Japan Aviation Electronics Industry)

JN1HSI0PL2
(made by Japan Aviation Electronics Industry)

(made by Japan Aviation Electronics Industry)
|
Mitsubishi Electric specifications (RS97-1024EGD)
36210-0100PL (made by Sumitomo 3M)
or
FANUC specifications
(RS97-1024EGA/RS97-1024NGA)
PCR-S20FS+ (made by Honda Tsushin Kogyo)

14 (E)

RS97-1024[JG[] Series



9-4, Accessories

RS97-1024EGD/RS97-1024EGA

Hex. socket-head cap screws M4 x 15 9 (used for installing the rotor)
Hex. socket-head cap screws M4 x 20 9 (used for installing the stator)
Flat washers for M4 18

Accuracy chart 1

Spacers 140 pm 2

RS97-1024NGA

Hex. socket-head cap screws M6 x 16 9 (used for installing the rotor)
Hex. socket-head cap screws M6 x 20 9 (used for installing the stator)
Flat washers for M6 18

Accuracy chart 1

Spacers 250 um 2

RS97-1024[JG[] Series

(E) 15



ww :nun

(s92169p ¢F) uonisod 1ndino juiod sdua13)9Y

uond3s g-g

(g]z00]©

1024EGD/RS97-1024EGA)

iImensions

For a rotor inside diameter of 96 mm (RS97

10. Outside D

(92e[d Ul PRIN3S UBYM) WWI G| :  SNipes Bulpuaq wnwiulpy
9102-g punodwo) ‘ww 9°G *xoiddy : I919wWelp |eusaixg
9|ged 1no-buimelp papaiys

RS97-1024[JG[] Series

100|O— E

19+ L69
(**8) 9y 00Z2

P .\\ ‘“ ‘ "

5 %A//.,,\ \h : ) |

AN ! S )

\ D o)) O

A‘\v - - - - M.n_u W’W 41 +—H
IN X m / >
3

Yo X6 4 F

(3Vr) SYIdOLSHLNS
[Spow J0123Uu0)

SOX /L -
—T (10301 pUE 33B}INS UOIIDIIDP UIIMID] ddURIEI|D) vl
4 00T 410 |
V Modie -
Jo |1e1eQ (€00% §1°07)

w0 [0

wolD)]

16 (E)



wwi : jun

NNEE )

(s22463p zF) uonisod
1ndino juiod aduaiayey

N

131N

) syorep
€809

5200 -
0
0
Lo+

(

(9e4dNnSs uUOLIL||RISUI 1010Y)

96

s091 081
' 062

(851Y)

N

v,

Ny

For a rotor inside diameter of 180 mm (RS97-1024NGA)

\

(3Vr) TTdOLSHLNS
[9POW 10122UU0)

(92e1d Ul PRIN3S UBYM) WW O :  Snipes bulpusq wnwiulpy
9102-0| punodwo) ‘wwi g’/ "xoiddy : I91owWelp [eusaixg

3|qed no-buimelp pap|alys

(E) 17

RS97-1024[JG[] Series



18 (E) RS97-1024[1G[] Series



Sicherheitsmaflnahmen

Bei dem Entwurf von Magnescale Co., Ltd. Produkten wird groBter Wert auf die
Sicherheit gelegt. UnsachgemédBe Handhabung wadhrend des Betriebs oder der
Installation ist jedoch gefdhrlich und kann zu Feuer, elektrischen Schldgen oder anderen
Unféllen fihren, die schwere Verletzungen oder Tod zur Folge haben kdnnen. Dartiber hinaus kann
falsche Behandlung die Leistung der Maschine verschlechtern.

Beachten Sie daher unbedingt die besonders hervorgehobenen Vorsichtshinweise in
dieser Bedienungsanleitung, um derartige Unfalle zu verhiten, und lesen Sie die folgenden
SicherheitsmaBnahmen vor der Inbetriebnahme, Installation, Wartung, Inspektion oder Reparatur
dieses Gerdtes oder der Durchfiihrung anderer Arbeiten durch.

Bedeutung der Warnhinweise

Bei der Durchsicht dieses Handbuchs werden Sie auf die folgenden Hinweise und Symbole stoRen.
Machen Sie sich mit ihrer Bedeutung vertraut, bevor Sie den Text lesen.

/\ Warnung

Eine Missachtung dieser Hinweise kann zu Feuer, elektrischen Schldagen oder anderen Unféllen
fuhren, die schwere Verletzungen oder Tod zur Folge haben kdnnen.

/\ Vorsicht

Eine Missachtung dieser Hinweise kann zu elektrischen Schlagen oder anderen Unfallen fiihren, die
Verletzungen oder Sachbeschddigung der umliegenden Objekten zur Folge haben kénnen.

Zu beachtende Symbole

A A A A

VORSICHT FEUER ELEKTRISCHER EINKLEMMEN DER

Symbole, die Handlungen verbieten

®

NICHT
ZERLEGEN

Symbole, die Handlungen vorschreiben

&

STECKER
ABZIEHEN

R$97-1024CJG[] Series @) (1)



>

Warnung

AusschlieBlich mit der angegebenen Netzspannung
betreiben.

Betreiben Sie das Dreh-Magnescale auf keinen Fall mit einer
anderen als der angegebenen Netzspannung.

Die Installation nicht mit nassen Hinden vornehmen.
Fihren Sie Installationsarbeiten auf keinen Fall mit nassen
Handen aus.

@ B P

Das Gerat nicht zerlegen.
Unterlassen Sie jeden Versuch, den Stator zu 6ffnen, um ihn zu
zerlegen oder umzubauen.

/\ Vorsicht

Die Arbeitssicherheit gewahrleisten.

Uberpriifen Sie unbedingt den Zustand von Maschine und
Vorrichtungen, um die Arbeitssicherheit zu gewdhrleisten, bevor
Arbeiten an der Maschine ausgefiihrt werden.

Keinerlei Arbeiten bei eingeschalteter Stromzufuhr ausfiihren.
Schalten Sie vor Arbeitsbeginn unbedingt die Stromzufuhr oder
andere Antriebsstromquellen aus.

> @ b

Ein Einklemmen der Finger sorgfaltig vermeiden.
Achten Sie beim Einschalten der Stromzufuhr oder anderen
Antriebsstromquellen darauf, dass Sie sich nicht die Finger in
peripheren Maschinen und Vorrichtungen einklemmen.

Allgemeine VorsichtsmaBnahmen

Anderenfalls
besteht die Gefahr
von Feuer und
elektrischem Schlag.

Bei Missachtung
besteht die Gefahr
von elektrischem
Schlag.

Bei Missachtung
besteht die Gefahr

von Verletzungen.

* AuBerdem kdnnen die
internen Schaltungen
beschadigt werden.

Bei Missachtung
besteht die Gefahr
von Verletzungen.

Bei Missachtung
besteht die Gefahr
von Verbrennungen
oder anderen
Verletzungen.

Bei Missachtung
besteht die Gefahr
von Verletzungen.

Beachten Sie bei der Verwendung von Magnescale Co., Ltd. Produkten die folgenden allgemeinen sowie die in dieser Anleitung
besonders hervorgehobenen Vorsichtsmafinahmen, um eine sachgerechte Behandlung der Produkte zu gewéhrleisten.

o Vergewissern Sie sich vor und wihrend des Betriebs, dass unsere Produkte einwandfrei funktionieren.

o Sorgen Sie fiir geeignete Sicherheitsmaffinahmen, um im Falle von Gerédtestorungen Schéiden

auszuschlie8en.

o Wenn das Profukt modifiziert oder nicht seinem Zweck entsprechend verwendet wird, erlischt die Garantie fiir die angegebenen
Funktionen und Leistungsmerkmale.
o Bei Verwendung unserer Produkte zusammen mit Gerédten anderer Hersteller werden je nach den Umgebungsbedingungen die

in der Anleitung beschriebenen Funktionen und Leistungsmerkmale moglicherweise nicht erreicht.

(2) @

RS97-1024[]G[] Series



RS97-1024[]G[] Series

Inhalt

1.
1-1.

1-2.
1-3.
1-4.

4.

4-1.
4-2.

6-1.

9.

9-1.
9-2.
9-3.

9-4.

10.

Produktiiberblick 1
UDEIDIICK oovvevveevecee ettt saes st sas s sas s ssssssssssssaessnsans 1
METKIMALE ...ttt bbb s s s aetene 1
SystemKonfiguration .........cc.iiiiiiniiii e 1
ModellbezZeiChNUNG.......cccueeecicicecireeee e seee 1

Bezeichnungen und Funktionen der Teile 2

Vorsichtshinweise zur Handhabung 3

Ausgangssignal (Serielle Ausgabe) 4
SignalspezifikatioNen ..o

Steuergerit-Anschlussspezifikationen

Stromversorgung 5
Installation des Dreh-Magnescales 6
Installationsmafle und MafltoleranZen.........ooeeeeveeeveeieeeeeeeeeeeeeeeeeeees e 6

Vorsichtshinweise zur Installation

InstallationSVerfalren.......oecuvceeicinieeinciniiecsesese e
Verdrahtungsbeispiel 10
Storungsbeseitigung 12
Technische Daten 13

Spezifikationen des Dreh-Magnescales..........cecuveeencuneerecrncenenceneeneennenneennennene 13

Ausgangsanschluss-Stiftbelegung...........ccccccvveiicinniiniinccis 14

KabelspezifIKationen. .......c.oveueurieeiiirieieireeeiseeseisee ettt 14

9-3-1. KOPIKADEL ...ttt 14
9-3-2.  Verldngerungskabel (Sonderzubehor) ........c.cccvcurecencerecincrnecencnnenns 14

ZUDEROT oottt bbbttt 15

AuBBenabmessungen 16

G) i



ii (G) RS97-1024[]G[] Series



1. Produktiiberblick

1-1. Uberblick

Bei diesem Dreh-Magnescale handelt es sich um ein Gerit zur Erkennung der Drehposition von
Werkzeugmaschinen.  Dieses hochgenaue Dreh-Absolut-Magnescale in getrennter Rotor-Stator-
Ausfithrung ist ein Modell, das auf serielle Kommunikation mit einem Mitsubishi Electric- oder FANUC-
Steuergerit ausgelegt ist.

1-2. Merkmale

o Magnetisches Abtastsystem fiir hervorragende Umweltbestidndigkeit gegen Kondensation und andere
Effekte.

« GrofSe Durchgangsbohrungen im Innendurchmesser der Trommel fiir einfache Kabelfithrung.

o Flache Konstruktion mit Gesamthdohe, einschliefllich Rotor und Stator.

o Zwei eingebaute Abtastkopfe fiir hohe Genauigkeit

o Dieses Modell enthilt einen Schnittstellen-Chip, der eine Kommunikation mit einem Mitsubishi
Electric-Steuergerdt oder FANUC-Steuergerit ermoglicht, so dass das Gerit direkt an das betreffende
Steuergerit angeschlossen werden kann.

1-3. Systemkonfiguration

Dreh-Magnescale
RS97-1024EGD

Verléngerungskabel Mitsubishi Electric-Steuergerat

Dreh-Magnescale
RS97-1024EGA
RS97-1024NGA

Verldngerungskabel FANUC-Steuergerat

1-4. Modellbezeichnung
RS97—1024[]ac[][]L]

E Kabelldnge (01:1m, 02:2m, 03:3m*)

Kommunikationsprotokoll-Spezifikation
(A: FANUC, D: Mitsubishi Electric)

Auflosung : 23-Bit-Ausgabe

L Rotor-Innendurchmesser (E: 96 mm, N: 180 mm)

* 03 : nur RS97-1024NGA

RS97-1024[JG[] Series

G 1



2.

Bezeichnungen und Funktionen der Teile

@ Rotor

(® Ausgangsanschluss

@ stator Abbildung : R597-1024NGA

®

2(G)

Rotor
Ein Absolutsignal zur Erfassung der Absolutposition und ein Inkrementalsignal sind auf das spezielle
magnetische Material der Abtastoberfliche aufgezeichnet.

Stator
Der Stator enthélt MR-Elemente fiir hochgenaue magnetische Abtastung und Verstarkerschaltungen
mit einem speziell konstruierten Magnescale Co., Ltd.-LSL

Ausgangsanschluss
Dies ermoglicht einen Anschluss an ein Mitsubishi Electric- oder FANUC-Steuergerit iiber ein

Verldngerungskabel.

RS97-1024[JG[] Series



3. Vorsichtshinweise zur Handhabung

Bitte beachten Sie die nachstehenden Sicherheitshinweise sorgfaltig, um zu gewihrleisten, dass das Gerit stets

einwandfrei funktioniert und seine Leistung unbeeintrachtigt bleibt.

o Dieses Produkt darf nur von Personen bedient und montiert werden, die diese Bedienungsanleitung gelesen und
verstanden haben.

o Achten Sie unbedingt darauf, eine Kombination von Rotor und Stator mit identischer Seriennummer zu verwenden.

o Vermeiden Sie bei der Handhabung des Ausgangsanschlusses, dass er gegen den Rotor und Stator stofit.

Magnetische Oberfldache des Rotors

o Bringen Sie weder Magneten noch aufmagnetisierte Gegenstinde in die Nahe der magnetischen Oberfliche des
Rotors. Dadurch kann die magnetische Aufzeichnung zerstort werden.

o Achten Sie darauf, dass die magnetische Oberfliche nicht beschadigt wird.

o Sorgen Sie unbedingt dafiir, dass keine Metall- oder anderen harten Gegenstinde gegen die magnetische Oberfliche
stoflen.

« Verwenden Sie zum Reinigen der Oberfliche ein sauberes Tuch usw., um Staub oder Schmutz sacht abzuwischen.
Verwenden Sie aufler Alkohol keine organischen Losungsmittel. Wischen Sie die Oberfliche auch beim Reinigen
mit Alkohol stets sacht ab.

Abtastflachen der Stator-Abtastkopfe

o Bringen Sie weder Magneten noch aufmagnetisierte Gegenstinde in die Nahe der Abtastoberflichen der
Abtastképfe. Dadurch kann die magnetische Aufzeichnung zerstort werden.

o Vermeiden Sie sorgfiltig ein Zerkratzen oder eine Beschidigung der diinnen Metallfilmabdeckungen der
Abtastoberflachen, und tiben Sie keine externe Kraft darauf aus.

« Sorgen Sie unbedingt dafiir, dass keine Metall- oder anderen harten Gegenstinde gegen die Abtastflichen stoflen.

o Achten Sie darauf, dass die Abtastflichen nicht nach unten weisen, wenn Sie den Stator in Arbeitsstellung bringen.

« Verwenden Sie zum Reinigen ein sauberes Tuch, um Staub oder Schmutz sachte abzuwischen. Verwenden Sie aufler
Alkohol keine organischen Lésungsmittel. Beim Reinigen mit Alkohol sachte abwischen.

Magnetische
Gegenstande
S%l z)

N
Magnetische Gegensténde
fernhalten.

ine Kombination von Rotor und Stator
it identischer Seriennummer verwende

Magnetische Oberflache

Abtastflache

Stator

fernhalten.

Reinigung

Sacht mit einem mit Alkohol AuBer Alkohol keine
angefeuchteten Tuch organischen Lésungsmittel
abwischen. verwenden.

Abbildung : RS97-1024EGD

Vorsichtshinweise zur Handhabung

Vor Lagerung und Transport des Gerétes
o Verpacken Sie das Gerit vor einer Lagerung oder einem Transport in seinen Original-Verpackungsmaterialien.

R$97-102401G] Series G)3



4, Ausgangssignal (Serielle Ausgabe)

4-1. Signalspezifikationen

Die Datenkommunikation des Modells RS97 mit einem Steuergerdt erfolgt unter Verwendung eines
bidirektionalen, absoluten seriellen Kommunikationsprotokolls.

[Aus der Richtung der Abbildung
rechts gesehen]

Additions-Zahlstand bei fixiertem

Stator und Drehung des Rotors

im Uhrzeigersinn

Abbildung : RS97-1024NGA

4-2, Steuergerat-Anschlussspezifikationen

Befolgen Sie beim Anschluss an ein Steuergerit unbedingt das vom Steuergeratehersteller vorgeschriebene
Anschlussverfahren. (Siehe Abschnitt ,,7. Verdrahtungsbeispiel )

4 (G) RS97-1024[]G[] Series



5. Stromversorgung

Die Stromversorgung erfolgt iiber das Mitsubishi Electric- oder FANUC-Steuergerit.

RS97-1024EGD | Gilt nur fiir Modelle, die an ein Mitsubishi Electric-Steuergerit angeschlossen werden konnen.
RS97-1024EGA | Gilt nur fiir Modelle, die an ein FANUC-Steuergerdt angeschlossen werden konnen.
RS97-1024NGA | Gilt nur fiir Modelle, die an ein FANUC-Steuergerit angeschlossen werden kénnen.

R$97-102401G] Series (G)5



6. Installation des Dreh-Magnescales

6-1. Installationsmafle und Maf3toleranzen

Stellen Sie sicher, dass die Abmessungen und Toleranzen der Dreh-Magnescale-Installationsflache den in
der nachstehenden Abbildung gezeigten Werten entsprechen.

Fiir einen Rotor-Innendurchmesser von 96 mm (RS97-1024EGD/RS97-1024EGA)

2104 0,1 71002
o |//]002 8]
:
wn
—0lo02] §
N
9-M4 R0,2 oder
9-M4 weniger
ok v
n ‘
296 3
- ©10,05 |A
100) [005[A]
8192 10,1 : Drehungsmittelpunkt
Einheit : mm

Abbildung der Installationsflaichen-Spezifikationen

Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)

(2207,3)

/710,02
// 0,02 B‘ 2192,3

3180*° ©

R 0,2 oder weniger

(1)
q
o
N

<

9-M6
9-M6

7.7

9l64t0 05
(10)

(2208,3)

8328,3

(2340)

1 Nehmen Sie die Einstellung so vor, dass die Unebenheit zwischen den Rotor- und Stator-Installationsflachen
maximal 0,1 mm betragt.

: Drehungsmittelpunkt

Einheit: mm

Abbildung der Installationsflachen-Spezifikationen

6 (G)

RS97-1024[JG[] Series



6-2. Vorsichtshinweise zur Installation

o Falls die Oberflache des fiir die Installation des Rotors des Dreh-Magnescales vorgesehenen rotierenden
Teils der Installationsfliche oder die Oberfliche des fiir die Installation des Stators vorgesehenen
stationiren Teils der Installationsfliche lackiert ist oder einen anderen Uberzug aufweist, ist der
Lack oder Uberzug zu entfernen, um eine gute Leitfihigkeit zwischen dem Dreh-Magnescale und der
Maschine zu erhalten.

o Vergewissern Sie sich vor der Installation des Dreh-Magnescales, dass die Mafltoleranz der
Installationsfliche und der Maschinenwelle innerhalb der Normen liegt.

Liegt die Maf3toleranz der Installationsfliche nicht innerhalb der Normen, wird die erforderliche
Genauigkeit nicht erzielt, und es besteht die Gefahr, dass das Dreh-Magnescale beschadigt wird.

o Dieses Produkt entspricht zwar der Schutzklasse IP65, doch muss es sorgfaltig vor Kiithlmittel, Spanen
usw. geschiitzt werden. Anderenfalls besteht die Gefahr einer Funktionsstérung.

« Uben Sie keine externe Kraft auf die Abtastfliche des Stators oder die magnetische Oberfliche des
Rotors aus, und bringen Sie keine Magneten oder anderen Gegenstande mit starkem Magnetfeld in ihre
Nibhe.

o Rotor und Stator sind jeweils mit einer Seriennummer gekennzeichnet. Achten Sie unbedingt darauf,
eine Kombination von Rotor und Stator mit identischer Seriennummer zu verwenden.

o Vermeiden Sie bei der Handhabung des Ausgangsanschlusses, dass er gegen den Rotor und Stator stof3t.
Anderenfalls kdnnen Rotor und Stator beschadigt werden.

o Installieren Sie das Gerit korrekt unter Bezugnahme auf die Abbildung mit den Installationsmaflen und
die Anweisungen zum Installationsverfahren. Falls das Gerit selbst nach korrekter Installation nicht
einwandfrei funktioniert, wenden Sie sich bitte an unseren Kundendienst.

o Der Referenzpunkt des Dreh-Magnescales (d. h. die Position, an der der Absolutwert Null betrigt)
befindet sich an der Stelle, wo die Schrauben an der ungeraden Position (22,5 Grad) unter den neun
Installationsschrauben fiir Rotor und Stator innerhalb von +2 Grad fluchten. (Siehe Abschnitt ,,10.

Auflenabmessungen®)

Abbildung : RS97-1024NGA

Referenzpunkt-Ausgabeposition (+2 Grad)

R$97-102401G] Series Q)7



6-3. Installationsverfahren

Uberpriifen der Installationsfliche des Dreh-Magnescales

1 Vergewissern Sie sich, dass die Maschinenwelle, an welcher das Dreh-Magnescale installiert wird, frei
von Vertiefungen, Rost und Kratzern ist. Wischen Sie etwaigen Staub und Schmutz vollkommen von

der Maschinenwelle ab.

Installieren des Dreh-Magnescales

2 Nachdem Sie den Stator des Dreh-Magnescales mit den mitgelieferten Innensechskantschrauben
provisorisch befestigt haben, stellen Sie den Stator so ein, dass seine Rundlaufabweichung mit der
Drehwelle maximal 0,02 mm betrdgt, und ziehen Sie die Schrauben dann an. Nachdem Sie die
Schrauben angezogen haben, iiberpriifen Sie die Rundlaufabweichung erneut again. Fithren Sie diese

Prifung mit einer Messuhr oder einem @hnlichen Werkzeug aus.

Rotor-Innendurchmesser | Modell Schrauben Unterlegscheiben Anzugsmoment
(mitgeliefert) | (mitgeliefert)

96 mm RS97-1024EGD | M4x20 (9) for M4 (9) 2,5 N'm

96 mm RS97-1024EGA | M4x20 (9) for M4 (9) 2,5 N'm

180 mm RS97-1024NGA | M6x20 (9) for M6 (9) 9 N'm

Fiir einen Rotor-Innendurchmesser von 96 mm (RS97-1024EGD/RS97-1024EGA)

Stator
Abtastflache

Abtastflache

— ;
% 2192 10,1

_

Iz

B

(¢208,3)

(2200)
Einheit: mm
Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)
M6 x 16

ﬁ Stator (mitgeliefert)
== B - ==<«—— Unterlegscheibe

‘ Abtastfliche Abtastflache (mitgeliefert)

‘ L4 ) N

\u

$328,3

%

(¢340)

Einheit: mm

Einstellen des Spiels von Stator und Rotor des Dreh-Magnescales

3 Bevor Sie den Rotor provisorisch auf der Installationsfliche des rotierenden Teils befestigen, priifen
Sie, dass die magnetische Oberfliche des Rotors nicht mit der Abtastfliche des Stators in Berithrung

kommt.

4 Stellen Sie den Rotor so ein, dass seine Rundlaufabweichung mit der Drehwelle maximal 0,02 mm

betragt. Fithren Sie diese Priifung mit einer Messuhr oder einem dhnlichen Werkzeug aus.

8(q)

RS97-1024[JG[] Series



5 Befestigen Sie den Rotor des Dreh-Magnescales mit den mitgelieferten Innensechskantschrauben
provisorisch auf der Installationsfliche des rotierenden Teils, und nehmen Sie die Einstellung so vor,
dass der Abstand zwischen den Abtastflachen des Stators und der magnetischen Oberfliche des Rotors

dem in der nachstehenden Tabelle angegebenen Wert entspricht.

Rotor-Innendurchmesser

Modell Schrauben
(mitgeliefert) | (mitgeliefert)

Unterlegscheiben

Abstand

96 mm RS97-1024EGD | M4x15 (9) for M4 (9) Maximal 0,14+0,03 mm
96 mm RS97-1024EGA | M4x15 (9) for M4 (9) Maximal 0,14+0,03 mm
180 mm RS97-1024NGA | M6x16 (9) for M6 (9) Maximal 0,25+0,05 mm

Fiir einen Rotor-Innendurchmesser von 96 mm (R$S97-1024EGD/RS97-1024EGA)

2165
2104 +0.1 ©
[ty powr g
S N ﬁk Stator g
&4 [ [ )
I - Il
\
! Einheit: mm

Installationsmal3e

Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)

M6 x 16 (mitgeliefert)

Rotor \ﬁ

Magnetische Oberflache ==— Unterlegscheibe
‘ (mitgeliefert)

ﬁ Magnetische Oberfldche
-

N

B

Einheit: mm

Installationsmalle

o Verwenden Sie die mitgelieferten Kunststoff-Einstellscheiben zur Priifung und Einstellung des Spiels.
Verwenden Sie keine anderen als die mitgelieferten Einstellscheiben.

o DaderRotoraus Aluminium gefertigt ist, darf er keinen starken externen Kréften ausgesetzt werden. Bei
einer Deformierung des Rotors konnen die Funktionen und Leistungsmerkmale des Dreh-Magnescales

nicht mehr garantiert werden.

Installieren des Rotors des Dreh-Magnescales
6 Sichern Sie den Rotor durch Anziehen der in Schritt 5 provisorisch befestigten Schrauben. Nachdem
Sie die Schrauben angezogen haben, iiberpriifen Sie die Rundlaufabweichung erneut. Fithren Sie diese

Prifung mit einer Messuhr oder einem @hnlichen Werkzeug aus.

Rotor-Innendurchmesser | Modell Anzugsmoment
96 mm RS97-1024EGD |2,5 N'm

96 mm RS97-1024EGA |2,5N'm

180 mm RS97-1024NGA |9 N'm

RS97-1024[JG[] Series

69



7. Verdrahtungsbeispiel

Mitsubishi Electric-Spezifikationen (RS97-1024EGD)

Japan Aviation Electronics Industry
JN2DS10SL2-R

L o

Verlingerungskabel (D

arest i

An Mitsubishi Electric-Steuergerat

Japan Aviation Electronics Industry - Japan Aviation Electronics Industry
JNTHS10PL2 JN2DS10SL2-R

Verliangerungskabel @

gess

36210-0100PL
Pol Nr.  Signalbezeichnung

Signalbezeichnung  Pol Nr. Pol Nr.
SD_N 1 Grau | ’\l i -\l Grau ]
SD_P 2 Orange L | _Orange S
Abschirmung 3 [Abschirmun _ Abschirmung| 3
CNT 4 Bau || B
RQ_P 6 Rot Rot p
oV 7 Br?t\.un \I\l |\I\| Bra“un 7
+5V P Griin L ! Griin s
+5V 9 Vet T\ ﬁ Violett .
oV 10 Schwarz Schwarz 0

Slolo|vw|o|u|s]|w|v |-

CNT : Signalleitung fiir Wartungsarbeiten

Grau i ~ Orange ~ 1 5V
Orange Grau 3 oV
| Abschirmun, 3 RQ_P
Blau ! Blau 2 RQN

Weifl ~ Rot _
pot || Xueig! | 2
6 _
Braun Braun 7 SD_p
G‘run &\ .Grun \I\ I P SD_N
Violett Violett 9 CNT
Schwarz Schwarz 10 _
Abschi
schirmung _ | _| FG

10 (@)

RS97-1024[JG[] Series




FANUC-Spezifikationen (RS97-1024EGA / RS97-1024NGA)

An FANUC-Steuergerat

h

Verldngerungskabel (D

Japan Aviation Electronics Industry Japan Aviation Electronics Industry  Japan Aviation Electronics Industry

Verldngerungskabel @

Honda Tsushin Kogyo

JN2DS10SL2-R JNTHS10PL2 JN2DS10SL2-R PCR-S20FS+
Signalbezeichnung  Pol Nr. Pol Nr. Pol Nr. Pol Nr. Signalbezeichnung

SD_N ] Grau -\l —~  Grau ] ) Grau | ~ Orange -\l ] SD_P
SD_p 5 Orange Orange 5 5 Orange Grau 5 SD_N

Abschirmung 3 [Abschirmun Abschirmung| 3 3 [Abschirmun 3 -

CNT 2 Blau Blau 2 2 Blau ! Blau ! 2 —
RQN 5 Wei3 ~ | '\l Weil 5 5 Weif3 | '\l Rot | '\l A RQ_P
RQP 6 Rot Rot 5 5 Rot L >'<Wei8 6 RQN
oV 7 Braun \I\ ﬁ Braun 7 7 Braun Braun 7 CNT

45V 3 Griin Griin P P Griin Griin s _
5V 9 Violett Violett 9 9 Violett Violett 9 15V

oV 10 Schwarz Schwarz 0 10 Schwarz Schwarz 10 _

— Aostimung | . -

CNT : Signalleitung fiir Wartungsarbeiten | 12 ov

| 13 -

| 14 ov

(Hinweis) : Nicht mit Gehduse verbinden. |_ N :: Abschi:mung

17 -

18 +5V

19 -

20 +5V
Gehduse | (Hinweis)

;

RS97-1024[JG[] Series

(M



8. Storungsbeseitigung

Falls Sie vermuten, dass eine Storung des Dreh-Magnescales vorliegt, gehen Sie wie nachstehend
beschrieben vor, um die Stérung zu beseitigen.

Prufen Sie nach, dass keinerlei Problem bei den zum AnschlieBen des Gerates an das
Steuergerat verwendeten Kabeln und Steckverbindern vorliegt.

Falls ein Problem festgestellt wird,
wechseln Sie das betreffende Teil aus.

\
Prifen Sie nach, dass das Gerat einwandfrei installiert wurde (liberpriifen Sie
Rundlaufabweichung und Abstand).

(Siehe Abschnitt ,6-3. Installationsverfahren *“.)

Falls ein Problem bei der Installation vorliegt,
nehmen Sie die erforderlichen Einstellungen vor.

Bitte wenden Sie sich an unsere Vertretung oder den Kundendienst.

12 (G) RS97-1024[1G[] Series



9. Technische Daten

9-1. Spezifikationen des Dreh-Magnescales

Gegenstand RS97-1024EGD Series | RS97-1024EGA Series RS97-1024NGA Series

Ausgangssignal Absolut seriell (Vollduplex: Entspricht ETA-422)

Datenformat Mitsubishi Electric-Spezifikationen | FANUC-Spezifikationen

Motortemperatur-Erkennung | Nicht verfiigbar

Erkennungsmethode Magnetisch (MR-Sensor)

Genauigkeit (bei 20°C) +2.55s

Auflosung 23-Bit-Ausgabe

Umdrehungsrichtung Im Uhrzeigersinn (Die Additionsrichtung und absolute 0-Ausgabeposition sind in den
Auflenabmessungen angegeben.)

Ansprechdrehzahl 5000 min™

Betriebstemperaturbereich 0 °C bis +60 °C

Lagertemperaturbereich -10 °C bis +60 °C

Vibrationsfestigkeit 150 m/s? (50 Hz bis 2000 Hz)

Stofifestigkeit 1000 m/s? (11 ms)

Schutzklasse P65

Versorgungsspannung DC 4,75 - 5,25 V (an Kabelanschlussende)

Stromverbrauch 330 mA oder weniger 300 mA
(mit 120 Q Last)

Einschaltstofstrom max. 2 A (bei einer Stromversorgungs-Anstiegszeit von 10 ms)

Stromversorgungsschutz

Bei einem Fehler, wie Stromversorgungs-Riickwértsanschluss oder Uberspannung, brennt die
eingebaute Sicherung zum Schutz der Stromversorgung und Verdrahtung durch.

Abmessungen 96 mm (Innendurchmesser) x 20.15 mm (Dicke) 180 mm (Innendurchmesser)
x 19 mm (Dicke)

Kabellinge 1 m/2 m (maximale Lange von 30 m mit Verldngerungskabeln) | 1m/2m/3m (maximaleLingevon
30 m mit Verldngerungskabeln)

Ausgangsanschluss Stecker JNTHS10PL4S von Japan Aviation Electronics Industry JN1HS10PL2

Kompatibler Anschluss Buchse JN2DS10SL2-R von Japan Aviation Electronics Industry (kompatibler Steckverbinder)

Triagheitsmoment 9 x 10~* kg-m? oder weniger 8,8 x 10~ kg-m* oder weniger

Masse 2 kg oder weniger (rotor: 0,2 kg, stator: 1,7 kg) Ca. 3,4 kg (rotor: 0,6 kg, stator:

2,8kg)

Anderungen der obigen Informationen bleiben jederzeit vorbehalten.

RS97-1024[JG[] Series

G 13



9-2. Ausgangsanschluss-Stiftbelegung

Anschlussstift-Nr.

Ausgabeformat: Vollduplex

SD_N

SD_P

Abschirmung

CNT

RQ_N

RQ_P

ov

+5V

O ([CO [N |N |V |[W[DN |~

+5V

—_
(=]

oV

CNT : Signalleitung fir Wartungsarbeiten

9-3. Kabelspezifikationen

« DieKabel diirfen weder geschnitten noch verlangert werden. Dadurch wird die Garantie der Funktionen
und Leistungsmerkmale des Gerétes aufler Kraft gesetzt.
o Achten Sie bei der Handhabung der Steckverbinder von Kopfkabel und Verlangerungskabeln darauf,
dass sie nicht stark gegen Rotor und Stator stoflen. Stator oder Rotor konnten sonst eingebeult oder
beschadigt werden.

9-3-1. Kopfkabel

Kabellinge I1m/2m/3m (3m:nurRS97-1024NGA)
Verlingerung | Verldngerung bis zu einer maximalen Linge von 30 m iiber Verldangerungskabel (Sonderzubehor)
Steckverbinder | JN1HSIOPL2 (hergestellt von Japan Aviation Electronics Industry) RS97-1024NGA

JN1HS10PL4S (hergestellt von Japan Aviation Electronics Industry) RS97-1024EGD/RS97-1024EGA

9-3-2. Verlangerungskabel (Sonderzubehor)

Eine einwandfreie Verbindung ist bis zu einer maximalen Kabelldnge von 30 m mit maximal zwei Kabeln

garantiert.

(Verlingerungskabel (D: x1; Verlingerungskabel (): x1)

Verlangerungskabel @

| Verlangerungskabel @

Kabellinge (Einzelheiten sind von unserer Vertretung erhiltlich.)
Gesamtlange 30 m bei Kombination mit Kopfkabel
Steckverbinder JN2DS10SL2-R JN2DS10SL2-R

(hergestellt von Japan Aviation Electronics
Industry)

JN1HS10PL2
(hergestellt von Japan Aviation Electronics
Industry)

(hergestellt von Japan Aviation Electronics
Industry)
|

Mitsubishi Electric-Spezifikationen
(RS97-1024EGD)
36210-0100PL (hergestellt von Sumitomo 3M)

oder
FANUC-Spezifikationen
(RS97-1024EGA/RS97-1024NGA)
PCR-$20FS+ (hergestellt von Honda Tsushin Kogyo)

14 (G)

RS97-1024[JG[] Series



9-4. Zubehor

RS97-1024EGD/RS97-1024EGA

Innensechskantschrauben M4 x 15 9 (fur die Installation des Rotors)
Innensechskantschrauben M4 x 20 9 (fiir die Installation des Stators)
Unterlegscheiben for M4 18

Genauigkeitstabelle 1

Einstellscheiben 140 pm 2

RS97-1024NGA

Innensechskantschrauben M6 x 16 9 (fuir die Installation des Rotors)
Innensechskantschrauben M6 x 20 9 (fiir die Installation des Stators)
Unterlegscheiben for M6 18

Genauigkeitstabelle 1

Einstellscheiben 250 um 2

RS97-1024[JG[] Series

G) 15



10. AuBBenabmessungen

Fiir einen Rotor-Innendurchmesser von 96 mm (RS97-1024EGD/RS97-1024EGA)

wiw : 1xyuig

(peuo zF) uonisodagebsny-pundzuaiaey

(Puesnz ua1b1Isa4Rq W) WW G|

UI9X}PUNCUISA-19UST-8 ‘W 9'G "B :

V [194d
UOA |Ie13Qg

: snipesabalg Jajewluly
J13ssawydInpuagny
12qeysbnzsny se1wydsabqy

g-g Bluyosqy

(8] 200]©
10'0|O

S9l@

SY8 X6 MD

AV S1dOLSHLNC
|]opowssn|ydsuy /

Lo~
0

58: 969
|

19+ L69

(1030Y pun aYdRJASLIQY USYISIMZ puRlSqY)

vl

€0'0F 10

(€00% §1°07)

K&

w0 l0)

(599°) 94 00T 2

RS97-1024[JG[] Series

16 (G)



Fiir einen Rotor-Innendurchmesser von 180 mm (RS97-1024NGA)

ww : yayuiy

€0'0FS

S2097) SYovEP
£'80¢¢

(

0

1’0+

(dYoelsuone||eIsu|-1010Y)

VN

3

)

¥9'6

09t 081

SN X¢C

6l

6

4

—_ (peiD ZF)
1 uonsodagebsny-pundzuaiaey
¢
— oo
Vo€
<
N
O —
N
2 G
o)
L0x &
0F c %NMS
Y
Y
(3Vr) T1dOLSHLNS (pueisnz u1biIsagag WI) WW OF - snipeiabaig Jajewiuly
||Ppowssn|ydsuy UIDYPUNQUISA-IS1DT-0 ‘W §'/ 8D : 13ssawydinpuagny

|19qeysbnzsny saywydsabqy

G 17

RS97-1024[JG[] Series



IOV = 2 7SR ST 2 FNOZE/EREIT M 4EIC B
D, HPABIESRBAGZOFEHEZHBE L TOET,
L7295 C, Yt oOFFal s LICHERcEE L 720, SN
(e TR E) LREZHNTAY = 27L&
THZELEEIELET,

AT IC B A N AR RRAY U JE Magnescale Co., Ltd. »
R PENE SEA T FR AT 2R A e SEE (A

BREEES T A F MR AT 8O AR LN, R
£ Magnescale Co., Ltd. [JEH#AFmE FAl. ™55 Hl s
AR F BT 2

The material contained in this manual consists of
information that is the property of Magnescale Co., Ltd.
and is intended solely for use by the purchasers of the
equipment described in this manual.

Magnescale Co., Ltd. expressly prohibits the duplication
of any portion of this manual or the use thereof for any
purpose other than the operation or maintenance of the
equipment described in this manual without the express
written permission of Magnescale Co., Ltd.

Le matériel contenu dans ce manuel consiste en
informations qui sont la propriété de Magnescale Co., Ltd.
et sont destinées exclusivement a l'usage des acquéreurs
de I'équipement décrit dans ce manuel.

Magnescale Co., Ltd. interdit formellement la copie de
quelque partie que ce soit de ce manuel ou son emploi
pour tout autre but que des opérations ou entretiens
de I'équipement a moins d'une permission écrite de
Magnescale Co., Ltd.

Die in dieser Anleitung enthaltenen Informationen
sind Eigentum von Magnescale Co., Ltd. und sind
ausschlieBlich fur den Gebrauch durch den Kéufer der in
dieser Anleitung beschriebenen Ausriistung bestimmt.
Magnescale Co., Ltd. untersagt ausdriicklich die
Vervielfdltigung jeglicher Teile dieser Anleitung oder
den Gebrauch derselben fiir irgendeinen anderen Zweck
als die Bedienung oder Wartung der in dieser Anleitung
beschriebenen Ausriistung ohne ausdriickliche
schriftliche Erlaubnis von Magnescale Co., Ltd.



* & &

NEDEE: 1REERE

b % % [ 1 ERESTERF i
= 1= a0 - - ®© BUESAE., RERA T NLEOFEE I - 72 1E
- E =" WA FARAE T, RAE IR A S R L A A, fE
’ % iR LT,

@ ARFTHSREEE, ArERMOBIHIZIRE T2 30
1= 1 BB LIFH T J=| H L, 2SI DOV TORIEI W= L E T,
ST RS A RN TE . ROBATEHEERE 5D 5,
i B L = @ Kk W, Kb EE XU QWAL X
o 5 Hhi,
= ° = . S N ) — NS

RS97-1024 ri @ ] EOBD I XU A EERB0E I X B b,

% 59 024 ]GL ] Series @ kR B & ORI O Sk,

@ KEOTRASMNLE,

®

— KR BE O LT, BHNA. WS 0iA
HEEUEER - 55 PEECE A, (27 L. AR T TS A b

BLGEIIE. TOROTIEH D HA,)

B S, a0 MIREI B & OREAE LS O R B
20T, HIRICES 2B 2 AEH L2 7.

B - - En A AHEEHAEMNZSNTOAER T,

A B TET H o & BRI = B 2L L 7= 5 B ABOHRTEOALELADT, FRLENEI K]
BT, AR HE A & 0 R A TS & ERELTZ 20,

ERMHTSHEDTY,

BERICBET 2 DS Y THIC O TRRE S N2 58 (MAH2 T TRETZ 254 ) . RIEENORLAIZEAK S 1
E3




BAED S OELEICHT2ER

AL (F5 K OB ) (3 AR 10 16 DI (SMBARIER 16 D) ISKH L E Y. Fv v F4—
BN K B A8APEE G ORI EG IO & £ LT, EaliFikiIC T TR 72 2,

For foreign customers

Note: This product (or technology) may be restricted by the government in your country. Please make sure
that end-use, end user and country of destination of this product do not violate your local government
regulation.

MASHTTRRAT—I

T 259-1146 #ZE||EFSEMEHI 45

Magnescale Co., Ltd.

45 Suzukawa, Isehara-shi, Kanagawa 259-1146, Japan

RS97-1024[1G[ ] Series 2023.5
2-A00-595-0F Printed in Japan
©2012 Magnescale Co., Ltd.



	表紙
	安全規格
	日本語
	安全のために
	目次
	1. 製品概要
	1-1. 概要
	1-2. 特長
	1-3. システム構成
	1-4. 型名

	2. 各部の名称と働き
	3. 取扱上の注意
	4. 出力信号（シリアル出力）
	4-1. 信号仕様
	4-2. コントローラ接続仕様

	5. 電源について
	6. 回転マグネスケールの取付
	6-1. 取付寸法および公差
	6-2. 取付上のご注意
	6-3. 取付手順

	7. 結線例
	8. 故障とお考えになる前に
	9. 仕様
	9-1. 回転マグネスケール部仕様
	9-2. 出力コネクタピン仕様
	9-3. ケーブル仕様
	9-3-1. ヘッドケーブル
	9-3-2. 延長用接続ケーブル ( 別売)

	9-4. 付属品

	10. 外形寸法図

	English
	Safety Precautions
	Contents
	1. Product Overview
	1-1. Overview
	1-2. Features
	1-3. System Configuration
	1-4. Model Name

	2. Name and Function of Each Part
	3. Handling Precautions
	4. Output Signal (Serial Output)
	4-1. Signal Specifications
	4-2. Controller Connection Specifications

	5. Power Supply
	6. Rotary Magnescale Installation
	6-1. Installation Dimensions and Tolerance
	6-2. Installation Precaution
	6-3. Installation Procedure

	7. Example of Wiring Connections
	8. Troubleshooting
	9. Specifications
	9-1. Rotary Magnescale Specifications
	9-2. Output Connector Pin Specifications
	9-3. Cable Specifications
	9-3-1. Head Cable
	9-3-2. Extension Connection Cables (sold separately)

	9-4. Accessories

	10. Outside Dimensions

	Deutsch
	Sicherheitsmaßnahmen
	Inhalt
	1. Produktüberblick
	1-1. Überblick
	1-2. Merkmale
	1-3. Systemkonfiguration
	1-4. Modellbezeichnung

	2. Bezeichnungen und Funktionen der Teile
	3. Vorsichtshinweise zur Handhabung
	4. Ausgangssignal (Serielle Ausgabe)
	4-1. Signalspezifikationen
	4-2. Steuergerät-Anschlussspezifikationen

	5. Stromversorgung
	6. Installation des Dreh-Magnescales
	6-1. Installationsmaße und Maßtoleranzen
	6-2. Vorsichtshinweise zur Installation
	6-3. Installationsverfahren

	7. Verdrahtungsbeispiel
	8. Störungsbeseitigung
	9. Technische Daten
	9-1. Spezifikationen des Dreh-Magnescales
	9-2. Ausgangsanschluss-Stiftbelegung
	9-3. Kabelspezifikationen
	9-3-1. Kopfkabel
	9-3-2. Verlängerungskabel (Sonderzubehör)

	9-4. Zubehör

	10. Außenabmessungen

	著作権
	保証書
	裏表紙



